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o IEFRsEHS  WKZDS-X 33 - 525 o EEEE T-2
e HIMSE 400 x L x 25 o EFEIR 300 mm
o FHAMZE MHA GEE) o X724 13— WXI-25x5x3. 5
it R OE
® fIE o N7 IN—
+ 1% W — i o T P= 8 kN -EvF Pe= 15 mm
- BERY i= 0 - BTER S Z = 381 m’
- BHEEEELLHWE P, = 8.0 kN
- B mEE axb=200 mm x 160 mm
- R FERE R Q= 300 mm
- RFYUTN—ARARER 4 = 200 mm
M E R
RTFYDGN——REBHMHR L LTHET B,
=NV | op, = 0.180 kN/mm’
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e iFE—ATF: M

P xPy
W - axb
8.0 x 15
W *W* 0. 004 kN/mm
M:;XWXQ1X(2Q—Q1) (0> 0 W 0,=0)
:;X0.004>< 200 x (2 x 300 — 200 )
= 37.5  kN-mm
oItk Hh: o
M 37.5
= = = <
o 7 381 = 0.10 kN/mm2=ob
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